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MANAGEMENT (PAPER-])

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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Wus—A / SECTION—A

1. (a) frofa o 2h aE Fra THR B R B 1 A EeATe g (fesgm) & 3ol
grifreRar 87
How does the Delphi technique of decision making work? Does it have
relevance in contemporary organizational design? 10

(b) F At B i AR A T @ e @7 Frercomrenss, FRFATEHS 3N TER =E % Hadl A
FH o Pt B W @ § 1 T ST i /ama wenl ) % mnfaa wa R?
Are being legal and being ethical same? Employees look at their employers in

terms of distributive, procedural and interactional justice. How does violation
of these affect industrial/human relations? 10

(© aasﬁaﬁtaiaﬁ%aﬁawﬁm%?s%aﬁmuﬁmﬁmi?ﬁ%mﬁﬁaﬁgmﬁﬁ
= fifv)

What are the differences between goals and objectives? How is management by
objectives better? Discuss the improvements it brings about. 10

(d) mmﬁm%%mﬁammwﬁm%mwﬁﬁwtwm%%aaﬁ
wﬁﬁﬁ%mﬁﬁmﬂﬁgﬁq%m%ﬁswmmﬁwmm%lﬁﬁaﬁ%
fafeaml Y =amE 3R TS JediE BT

Adam Smith has stated that public interest is served best when, individual and
business pursue self-interest. Milton Friedman in the same line has said that
the sole purpose of business is to make profit. Explain and critically evaluate
the implications of these ideas. 10

(e) WS A T, mmw-mﬁﬁmﬂﬁmm%?amaﬁﬁﬁﬁm
RN
How has Freud classified and explained id, ego and super-ego? How do they
shape our personality? 10

2. (a) T YO FeEa ¢ “zfs Fae A T 78 W) i Non F w2 & s a1 wHER
ST § s FE-eaiE AR ol mhke (Agerd) aRE B N F0 T At
woreh R 6 ge T T 9 AR
There is an old saying that “individuals do not live by bread alone”. Explain its
meaning in the context of employee motivation. Compare and contrast the
motivation approaches that are likely to be more effective in industries
employing knowledge workers and manual workers. 20
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(b)

(c)

(b)

(c)

e G S Y YU 5 e w w R @ Rl e e § da S
wiftre & i 1 W) w iR aRom 31 F W 2
memwﬁséwﬁﬁma@éwﬁﬁaﬁwwmﬁmﬁ
HEAEHA F1 B 8¢

“Human resources management is a part of every Manager’s job including
that of Production Manager or President because ‘getting things done and
producing results is the name of the game’.”

Critically analyze the above statement. Why do big corporations require
separate human resources department?

sty 7 3 e 4t $ T e S sfgf A T § fawd w5 e,
e st TehA ¥ YR A Ry i w2 R7

Enumerate and explain the different kinds of attitude measuring scales. What
advantages does the Likert’s scale have over Thurstone’s or Guttman’s scale
to measure attitude?

“gd-wfafda (sfi-Tenfire) Rigrawt Y 9 veaE 7§ wwensl B T@ w0 % g fafe
afE 9 el FO | i 9 R et st (i) fremeed % fe 3
Anfe ik Tomate AF REruRd @ee @l (o) & fou sifte = off)”
w©-vfafa (h-senfiea) @ gfada (e R o 9% g W TN e
T T FOH IR A

«pre-classical theorists emphasized more on developing specific techniques to
solve some identified problems. However both scientific and administrative
schools of thoughts given by classical theorists were more all pervasive in their
approach to organizational design.” Substantiate this statement highlighting
pre-classical and classical theorists and their approaches.

o e # ST g F e ¥ w0 Hro &7 e @ed % | e @ H
o ) SRR wTe, Shu=ieh §1eA % FEE § F GfERE 8 whal 8 7
What are the causes of formation of informal groups in an organization?

Compare formal organization with informal organization. How could informal
organization be detrimental to the working of formal organization?

HETHR F Fewl THR FA-B A §7 7 wamesn FRAt @ wafi € &, < wfew # s
2 % oir T SRR W) FW R A § )Y gt w0 ¥ ol R A fn o v 7
What are the important types of interviews? Often interviews are affected by
errors that creep in the process and undermine their usefulness. What are
these errors and how can these be minimized?

15

15

20

15

15




4. (a) NG WHER H Tod W IR i safrar F e v dey 27 S 99 2 ol sqmEn R
% fore 7% few y@R &1 7R gRa W 27
What is the relationship between Government of India’s initiative of ‘Startup

India’ and entrepreneurship? Who is an entrepreneur and what kind of
innovations does he or she create to create an enterprise? 20

(b) T HY AEgl gt e B 3 vafat e dae w5 fRE SR TR
2 T & URARE i FEH TS, R T e WHo & Ft wae 1 T 27

Discuss the important trends in business. How are these trends shaping
human resources management? Why is conventional human resources view
being replaced by strategic HRM? 15

(c) “HU AT YEE F AR W GHOAF 3N THOHF A I F WY EREE w9 QA g
TS T T 1 30 HA * e § it wd weum a1 sren iR

“Conlflict is a naturally occurring phenomenon with both positive and negative
effects depending on its management.” In the light of this statement, explain
the different conflict management techniques. 15

@us—B / SECTION—B

5. (@) ¥ R AR GHRE: T A wiftwt €7 o 3 A @ w07

What are the common misconceptions surrounding cost of capital in practice?

How would you dispel them? 10
(b) e WA AR Frun @lie § 7@ i 7
Distinguish between leasing and hire purchase. 10

(c) T3-MYING 12 . & 3R I8 Tl «ioe A ¥ i Aan {7

What is zero-based budgeting and how does it differ from traditional
budgeting? 10

(d) ‘IR, IS F Tl F q0F A e N T e Fif saRt | Rifm SRR 6
e FY it IR Iraera F T 99l 39w Rao el % TR ¥ Qe 5% geia
AT
“Products differ in the way consumers buy them.” Elucidate. Explain the

different categories of products and relate them with the type of distribution
approach that is most appropriate for their availability. 10

(e) TEHi i TR sTava & A TdHF He F A § Sy wY o v ¥ R e T8 2
T I8 g 87 Faom Pfeand 1 v & w@d g Egh w s S e g6y 9w
Customer satisfaction is necessary but not sufficient to survive and thrive in
present-day markets. Is it true? Explain the relationship between satisfaction
and loyalty by focusing on its marketing implications. 10
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6. (a) I9YH W|E TN Figars A SyauRon F WY F FHgEC

Briefly explain the concept of conservatism by giving suitable examples. 10

(b) 319 H wmW A § X, Y wd Z HuhE F fig wafe R atw e yer § -

faraor X Y z
fesht % wfoem & &0 3 aiadHa == 6667 75 50
== =9 (?) 5,000 | 8,000 | 17,000
gitee e (i) 6 faft 7 8 3
o 3diem (<haw) < faft 2 6 4
ST T 35% 30% 40%

i) X,Y 3R z safE % e ema faawor danr i)
(i) ¥ FufEl 6 foxia Rl iR dwm W fwelt Aiftg)

The selected financial data for X, Y and Z companies for the year ended
March 31 are as follows :

Particulars X Y zZ
Variable expenses as percentage of sales 66-67 75 50
Interest expenses (¥) 5,000 | 8,000 (17,000
Degree of operating leverage 7 8 3
Degree of financial leverage 2 6 4
Income-tax rate 35% 30% 40%

(i) Prepare income statements for X, Y and Z companies.

(i) Comment on the financial position and structure of these companies. 20

(c) Tabm R A aR 71 Thrrgiams awEmst f =ren Hifve) fFa TR A TR Tw&= F
I=ria T BH 1 A9 ged ol | siftes e B @7 o el o g Fofat w3
Fortmron Tt 27
Explain different types of market or competitive structures. Under which type

of market structure, a firm has greater control over its pricing decisions? How
does a firm gain control over its pricing decisions? 20
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7. (@ 319, 2020 P TN A T ¢ % e T Foh A fdE g €2,00,324 F LS A
=g %) 3E st ¥ Rie oFa @R € 2,04,868 1 Y6 @ Tt #) 3 @l F stnei R
st ¥ ahomresy Frafifaa Sk anm g o

()
(%)
(iti)
(iv)
(v)
(vi)
(vii)
(viii)
()
)
(i)

AT G & HEE e ey (Tet-ferag)
AP G § T Suiera Aftege (Ta-fepag)
frfig @ § g e ™ (FRE)

ATa @A ® g e TR T

W =TS foheg e @ ke T

s et @ # T (3fee) T

§= = fadhie @ & s (sefee) fen T

HUSR AHEH foefa @ § s e

fortan forefig @ ® @ T

T e i @ § sifd

e 6 Bl Tl @ & @ T

L ¢
13,689
12,857
24,320
28,560

6,048
7,608
3,520
5,008
3,310
1,805
9,807

i AfeEt % EEr @M F WY arE el F IER T e #Ha g
forau-u3 R A

The financial books of a company show a net profit of ¥ 2,00,324 for the year
ending 31st March, 2020. The cost accounts show a net profit of ¥ 2,04,868 for
the same corresponding period. The following information was revealed as a

result of scrutiny of the figures of both the sets of books :

1)
(@)
(iii)
(iv)
(v)
vy
(vii)
(viti)
(ix)
()
(x3)

Factory overhead under-recovered in Cost A/c
Administration overhead over-recovered in Cost A/c
Depreciation charged in Financial A/c

Depreciation recovered in Cost A/c

Interest received but not included in Cost A/c
Income tax debited in Financial A/c

Bank interest credited in Financial A/c

Stores adjustment credited in Financial A/c

Rent charged in Financial A/c

Dividend paid recorded in Financial A/c

Loss of obsolescence charged in Financial A/c

¢
13,689
12,857
24,320
28,560
6,048
7,608
3,520
5,008
3,310
1,805
9,807

Prepare a statement reconciling the profit as per costing records with the profit
as per financial records.
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(b) fawea (ATA) deaw w0 § 3R 376 701 wew 27
What are Option Greeks and what is their significance? 15

(c) %mmw%mﬁ@mmw-ﬁﬁwvmmwﬁmﬁ@
I T et {7 R 7@ T § e e ) s S =ifve?
What are the key stages that a product passes through its life cycle? Is

managing a product during maturity stage difficult? Why? What strategies are
to be recommended at this stage? 15

8. (a) mm,m-mmwmmmmﬁ@mé?ym%m
THAM AR SR F1 989 § qui A
What purpose do the Baumol model, Miller-Orr model and Orgler’s model
serve? Briefly describe the similarities and differences between these models. 20

(b) “va % fodia &3 gul B T F v B wOEw AR F v R F w9 F Jw R @ o
3R 36% 9 F gur o W R F o e A, e st A0 ) a9 R goreh
5 Fneife 9 R WA F1 I w27
“Financial sector reforms in India were introduced as a part of the liberalization
policy of nineties and subsequent reforms were a move in the right direction

but inadequate.” Explain. Identify the weaknesses in the present financial
system. How can these be overcome? 15

(c) wairen 3R i (sraem) a9 ¥ fi9 ger Siw T &7 sheife T § fiRE TR 6
Tlie feufadt H sren fifm)

What are the key differences between consumer and industrial (business)
{ markets? Explain the different types of buying situations in industrial markets. 15
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